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Introduction
In legacy LTE, one of the major functions of the PDCP is header compression and de-compression by using ROHC. ROHC is an algorithm to compress and de-compress the header of various IP packets. And in the legacy LTE, the PDCP entity assumes that the PDCP SDU starts with IP header, so PDCP entity compress the IP header from the beginning of the packet.
In NR, it was agreed in the previous RAN2 meeting that RAN2 introduces a new layer over PDCP layer, SDAP layer to handle QoS management. DL packets over Uu are marked in-band with QOS-flow-id for the purpose of reflective QoS; UL packets over Uu are marked in-band with QOS-flow-id for the purpose of marking forwarded packets to the CN. The QoS flow ID will be included in the SDAP header. 
If the PDAP header is located in front of the PDAP PDU (PDCP SDU) and ROHC is configured, the PDCP entity cannot perform the header compression and de-compression without modification. In order to perform the header compression and de-compression, the PDCP entity needs to know the PDAP header length. However, even if the PDCP entity knows the PDAP header length, the PDCP entity should perform additional processing. 
This contribution discusses how the PDCP layer performs compression and de-compression in case the IP header is behind the SDAP header.
Discussion 
SDAP header in the end of SDAP PDU
[bookmark: OLE_LINK6][bookmark: OLE_LINK7]Since the QFI may be present or absent, that is to say SDAP header length is variable, in order for the receiver to be able to read it from the end the SDAP PDU header has to be encapsulated from the LSB to the MSB. Specifically, the SDAP header is reversed completely like a mirror, before appending it to the end of the PDU. In this case, the receiver can’t process the received SDAP PDU until the whole PDU is received. The receiver then has to decode the SDAP header in the end of the PDU, and then go to the beginning of the PDU to find the IP header, which introduces additional complexity in the receiver. 
And vice versa, for the transmitter, it should also assemble the SDAP PDU in the same way, which also introduces extra complexity in the transmitter. 


Figure 1: SDAP header in the end
PDCP layer ROHC skips the SDAP header for compression by implementation
Inter-layer interaction between PDCP layer and SDAP layer should be implemented to ensure the PDCP layer ROHC skips the SDAP header for compression. More specifically, the SDAP layer notices the length of the SDAP header to PDCP layer. This method also introduces additional complexity in the receiver side, because the receiver PDCP entity has to truncate the SDAP layer SDAP in three part (SDAP header, IP header, data), and re-concatenate them. If the SDAP header is dynamic, then the SDAP layer has to signal the length header, which makes this solution more complex. 
Comparison between the two solutions
 Based on the above discussion on the two solutions, we give a comparison table below
	
	Complexity introduced

	SDAP header in the end
	1: extra design for receiver processing the end firstly and go to the beginning for data
2: transmitter assembling complexity
3: more buffer required

	Skip the SDAP header
	1: complexity introduced to PDCP by skipping the SDAP header and 


Table 1: comparison table between SDAP header in the end and Skip the SDAP header

Proposal 1: It is proposed to enable the receiver to skip the SDAP header to process the PDCP ROHC compression. 
Conclusion 

Proposal 1: it is proposed to enable the receiver to skip the SDAP header to process the PDCP ROHC compression.
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